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 ���������	�
 ��
�������������������������������� ����!"��#��$��%&$������
�%��%��'��%����# �
�(�)�����������%&$������ # � 41 ���%�,-������. #
�������� �	�
 ������
����������� ����!"��#��$��%&$������ �%��%� �%����# �
�(�)�����������%&$������ # � 41  
 #
����������
�����/��������������������� ����!"��#��$��%&$������ �%��%��'��%����# �

�(�)�����������%&$������ # � 41 ���#
����������������������������������������!"��#��$�
�%&$������ �%��%��'��%����# �
�(�)�����������%&$������ # � 41 
 ��-0��%��$0�� ��� ��!1!������������� ��2����3  ���4-�����)����������1!�4����� 
"��#��$��%&$������ �%��%��'��%����# �
�(�)�����������%&$������# � 41 �5��������  2554  
8'����  195  �� )��:����8�����#�����44#8��8� (Purposive Sampling) �,���)��/��/����
��#�����. ���!� �0�#L���$  ( µ )  �0��#4��$�#4�����M��  (σ )  
 
1. ��	
���������� 

1. �	�
)%��:� ��1!���4�44��4,�� 
4�0� 1!���4�44��4,���0��/�
0#�O�#
���$ 
���#�O����$�� 69.23 #
��
�� ���#�O����$�� 30.77 �0������ ��$- �0������!���0� 40 �5  �0��
/�
0����$-������ �!���0� 10 �5  ���$�� 50.26  84����������������� 8'���� 105 �� ���#�O�
���$�� 53.85 �����������0��/�
0�������������%(� �.3 ���#�O����$�� 21.83 �'����0�
��88-4%��0��/�
0#�O���!������������ ���������!�#���$��%4���1��������0��/�
0#�$������������
8���'���  ��%����  ���#������0�� ���$�� 34.26  

2.  �	�
��������������� ����!"��#��$��%&$������ �%��%� �%����# �
�(�)����������
�%&$������ # � 41 "�$	�
����$!0/����%4������� #����
�8��U�#�O���$���� 
4�0� ��������
���������#	)4)#
�� "�$	�
����$!0/����%4�������   �����������������#	)�1�	!��
����10�	�
 "�$	�
����$!0/����%4�������  ���������U����-U	�
����������  V���
�����4:����$ �������������#	)#�����������  �������������#	)#������#��$�  ����������
���#	)����
��
.  ����������������#	)����W "�$	�
����$!0/����%4�������  �	�
�������
���/������,��)��  �����4�����U �������1������� ����4-�����1!�/�������%4��-�  �������
/������  "�$	�
����$!0/����%4�������   
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 3. ��������������������������������!"��#��$��%&$������ �%��%��'��%���� 
# �
�(�)�����������%&$������ # � 41 "�$	�
����$!0/����%4��� #����
�8��U�#�O���$���� 
���������U����-U	�
 ������������ �����4���$ �������������#	)4)#
�� "�$	�
���
������������$!0/����%4��� ( µ  = 4.15 )  �������������#	)�1�	!������10�	�
 "�$
	�
���������������$!0/����%4��� ( µ  = 4.06 ) ���������U����-U	�
 ������������ 
�����4���$ �������������#	)#����������� "�$	�
����$!0/����%4���  ( µ  = 4.05 )  �������
������#	)#������#��$� "�$	�
����$!0/����%4��� ( µ  = 4.07 ) �������������#	)����
��
. 
�����������"�$	�
����$!0/����%4���  ( µ  = 4.05 ) �������������� W �����������"�$
	�
����$!0/����%4��� ( µ  = 3.99 ) �����������/������,��)�� "�$	�
����$!0/����%4��� 
( µ  = 4.05 ) ����������������4�����U"�$	�
����$!0/����%4���  ( µ  = 4.03 ) �������
1������� ����������� ������"�$	�
����$!0/����%4��� ( µ  = 4.05 ) ����4-�����1!�/�����
��%4��-������������"�$	�
����$!0/����%4��� ( µ  = 4.05 ) �������/������ "�$	�
����$!0
/����%4��� ( µ  = 4.12 ) 

4.  ��
�����/��������������������� ����!"��#��$��%&$�������%��%��'��%����# �

�(�)�����������%&$������ # � 41  ��
�����/��������������������� /����������U���
�-U	�
 ������������ "�$	�
����$!0/����%4���  ( µ  = 4.11 ) �������4-����� "�$
	�
����$!0/����%4��� ( µ  = 4.05 )    
 
��

����� 

8��1���������  �����,�	����$���#�Y��'��%
�0��W :���%���(  
1. �����	�
��������������� ����!"��#��$��%&$������ �%��%� �%����# �
�(�)��

���������%&$������ # � 41 "�$	�
����$!0/����%4������� V��������4:����$   ��������
���������#	)4)#
�� �����������������#	)�1�	!������10�	�
 ���������U����-U	�

����������  �������������#	)#�����������  �������������#	)#������#��$�  ����������
���#	)����
��
.  ����������������#	)����W �	�
����������/������,��)��  �����4�����U 
�������1������� ����4-�����1!�/�������%4��-�  �������/������  "�$	�
����$!0/����%4 
������� )%(���(��8#�O�#
����0�  /����������������4)#
��8%�#�O�����)������/�����'�#��� 
"�$#L
��#
�������4������� �0���������������#	)�1�	!������10�	�
 "�$#L
��
�1�	!��#
�� �1�	!���%
�%��U.)�������  �1�	!�������!����"��������)�������  �10�	�
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#�����������  �10�	�
�%��U�#����������� ����#��0���(#�O�����)��/����4�!0�%4���#��$�������/�
�	�
8��� ������8,!��'���/��40�$��%(� �������$-���/�����)�����8��#�O�#��-/�������%(�#�����	�
:�� 
���������%4�����8%$ �� #��0�.  4-
�0�$ ( 2529 ) :��)'������8%$ #����� �	�
 ��
���������
�������������������������� ����!���,������ �%��%��'��%���������  ��-�#)
������Z  8��
1������8%$
4��-�:���0� 

�	�
   ��%����#
��)��/��/����#��$�������  ������#
�$�
�  �-U	�
 ����%�����!0���
������������$!0/��	�

�/��  ����#��$����������  ��8'����#
�$�
�  �4�����U�'���%4����
����������������$  �%�#��$�# ���0����8�������1������������������  ���$  1!�4�����"��#��$�
��%4��-����/�����������������  ���/�������������������4������%��%4#��(���  �����/��
��8�������#������:���0����$/�4��4)#��$� 

��
��  ������#��������������#	))'����  ��!:�0:���%4�������'�8���������)�/�
���/��  ���  1������������������  ��!�������8'����:�0#
�$�
�   �������!�#�Y4����������
������4�����U���1������V0���V����������:�0#
�$�
�  :�0���4�����U�'���%48%�V�(�����
�����������  ��!:�0��)%���/����1������������ 

�����������   ��!����������������������)��  ����)%��.   
8���-��������  
�����-��������  �!�#�Y4���������������  �������4�����U/����8%�V�(����������������  
������������%4��-�8��1!�������������.����0�� W  /����8%�V�(����8%������������������  
��������������'����/�����������������  ��������!���&�#�Y4�%�����������������������&����
�����&���������8����# ��8%���� 

2.  ������������������������� ����!"��#��$��%&$������ �%��%� �%����# �
�(�)��
���������%&$������ # � 41  

1. ���������U����-U	�
�������������#	)4)#
�� "�$	�
����$!0/����%4��� )��
#�O�#�0���(��8#�O�#
����0� �������������#	)4)#
��8%�#�O�����)������/��#�O����8'����'�#���
#
���/��# ���%48%�������#�������%4��8�����0��W /����#��$������� /�����#��$���������
�����)&�	�
���$��� �(� �0���������������#	)�1�	!������10�	�
 "�$	�
����$!0/����%4
��� )��#�O�#�0���( ��8#�O�#
����0����#��$�������8'�#�O�����/�� �1�	!������1�	�
�����4
�'���%4����'�#���������/���0��"��#��$���0�����%4�%(�V�����#��(������#��$�)������0���%��%��%(�
�1�	!������1�	�
8��#�O�����8'�#�O��'���%4���#��$�������  
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2.  ���������U����-U	�
 ������������  �������������#	)#����������� "�$
	�
����$!0/����%4��� )��#�O�#�0���(��8#�O�#
����0� #���������#��$����������������#�O�����
�2�4%�� �%��%(�#�������������-���U.#���$��%4���#��$�������8'�#�O�������/��
�������#
�$�
�
�%4���8%����#��$�������  

3. �����,��)��  "�$	�
���������������$!0/����%4��� )��#�O�#�0���(��8#�O�#
����0�
���#��$����������������#�O������2�4%�� 8'�#�O�����/�������'���%4���#��$��������������
�'���%4���#�Y4#����������'���%4)'����#��$�������  

4.  �����4�����U ����������������4�����U"�$	�
����������������
�4�����U/����%4��� )%(���(��8#�O�#
����0� ��0��"��#��$�:�0:��8%�����4�����U/��������
8%�V�(� V0���V� ������#
���
!������!�/����1�������)��������������� �%��%(���!1!����8��
��������4�����U/��������8%�V�(� ���V0���V� #�O��$0����� 
             5.  �������1�������  �����������/��������1������� )-���$�����������������$!0/�
���%4��� )%(���(��8#�O�#
����0� �%��U� ��4)#��$�)���'����/��1!�#��$������!�8%�[\�[�)%���/�
���/���-���U.)��#�O� ��8��� ��0)��"��#��$�$%� ���-���U.�����:�0#
�$�
��0����#��$������� 
�%��%(���!8���������1�������/��#
�$�
�����������)&�	�
 
             6. ����4-�����1!�/�������%4��-� ����������� ����!1!���������������������
4-�����1!�/�������%4��-� "�$	�
����$!0/����%4���  �0��/�
0#�Y��0� �����%4��-� ��
1!�4�����"��#��$�/����1���������������������� �����%4��-� ��1!�4�����"��#��$�/����8%�V�(�
������������������� )%(���( ��8#�O�#
����0�1!�4�����#�Y������'��%
 �����#��$�������/�����
���������������8'�#�O�8��������-���U.��������0��W #
�$�
��%48'�����%�#��$�������8%����
#��$������� #
���/�����#��$��������������)&�	�
���:������������)���������)&�	�
  

3. ��
�����/��������������������� ����!"��#��$��%&$�������%��%��'��%����# �

�(�)�����������%&$������ # � 41 

1. ��
�����/��������������������� ���������U����-U	�
���������� 
4�0��0��
/�
0 ������ #)�4%�)��#��$�  ������#��������������#	))'�)'����  ���������)�����$!0 
�$!0/��	�
�'��-�:�0�����,�'���%4��/��:��  ��!:�0:���%4�������'�8���������)�/����/��  ���  
1������������������  ��!�������8'����:�0#
�$�
�   �������!� #�Y4���������������
�4�����U���1������V0���V����������:�0#
�$�
�  :�0���4�����U�'���%48%�V�(�����������
�����  ��!:�0��)%���/����1������������ 
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 2.  ��
������4-����� "�$	�
����$!0/����%4��� ��
��)��
4�����  ��!:�0:���%4
�'�����'�#���$��%4���/��������1������������8����0�$�������#)��.#)0�)�����  ��!���������:�0
#
�$�
�  ��!:�0#�Y������'��%
 �����/�����������������  ��8#�O�#
����0�"��#��$� �����
����������%4��0�$���	�$���/���� ��%4�����%4��-� ���
%]�������!���������������
������
%]�����#��$�������     

   
���������� 
 1. �	�
����������  ���8%�����4�����U/����8%�V�(�����)�������)��)%���%$ ���	�

�� /����0"��#��$���� �(� #
������#��$�������/��#��������)&�	�
   

2.  ��������������������� ���8%������0������!� ���� �-���U.)������� #�0� ����)%��.
#���$��%4����� �!�#�Y4��������� ��%�����������)�������  

3.  ��
�����/������������  ���8%�/��������4������#)����  ��&�������  ������
1������������ )��,!�����8��1!�#���$���
 

 
����������������
 !�"�!#$%&�'
 
  ���������!��44��������������� "�$#���)���������1��������������������'�:�/��  
/����#��$����������������/����%4�%&$������ #
����'� ���!�)��:����)'������#�����.��
�!��44�������������������/��#�O�����M���'���%4���#��$�����������������0�:� 
  

 


